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MATHEMATICS TEST

8 Minutes—8 Questions

DIRECTIONS: Solve each problem, choose the correct
         but some of the problems may best be done without

answer, and then fill in the corresponding oval on your
         using a calculator.

answer document.




         








         Note:Unless otherwise stated, all of the following should

Do not linger over problems that take too much time.    
         be assumed.

Solve as many as you can; then return to the others in

the time you have left for this test.


         1. Illustrative figures are NOT necessarily drawn to scale.







         2. Geometric figures lie in a plane.

You are permitted to use a calculator on this test. You
         3. The word line indicates a straight line.

may use your calculator for any problems you choose,  
         4. The word average indicates arithmetic mean.

	Pre-Algebra 23% ~ about 14 out of 60



	1.  Of 60 pairs of socks in a drawer, 40% are blue, while the remaining socks are all gray. If 4 blue socks are removed from the drawer, what is the ratio of gray socks to blue socks?

F. 1:2

G. 5:9

H. 3:5

J. 9:5

K. 2:1
	2.  How many different ways can you add four positive odd integers together for a sum of 10, without considering the sequence of the integers?

A. Five

B. Four

C. Three

D. Two

E. One


	Elementary Algebra 17% ~ about 10 out of 60



	3.  Which of the following is equivalent to the inequality 4x 8 8x 16 ?

F. x 6

G. x 6

H. x 2

J. x 2

K. x 6



	Intermediate Algebra 15% ~ about 9 out of 60



	4.  In the real numbers, what is the solution of the equation 
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D.   0
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	Coordinate Geometry  15% ~ about 9 out of 60



	5.  The graphs of the equations y x 1 and 
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 are shown in the standard (x,y) coordinate plane below.  What real values of x, if any, satisfy the inequality 
[image: image7.wmf]x

x

-

<

-

1

1

4

b

g

b

g

?
[image: image20.emf]A. No real values

B. x 0 and x 1

C. x 1 and x 2

D. 0 x 1

E. 1 x 2



	Plane Geometry 23% ~ about 14 out of 60


	6.  Point A bisects line segment 
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, and point D bisects line segment 
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. Which of the following congruencies holds?

A. 
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	7.  In the figure below, lines a and b are parallel, and lines c and d are parallel.  What is the measure of x?

[image: image21.emf]
F. 75°

G. 95°

H. 100°

J. 105°

K. 115°


	Trigonometry 7% ~ about 4 out of 60



	8.  Which of the following trigonometric equations is valid for the side measurement x inches, diagonal measurement y inches, and angle measurement w° in the rectangle shown below?
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